
Geometry Honors Mathematician: ________________________________ 
Unit 6: Congruent Triangles Period:___________ 
6.4b Proving Triangles are Congruent (SAS & ASA & AAS) 

LEVEL: EMERGING 
Directions: Determine if it is possible to prove that the triangles are congruent. If so, state what theorem 
you would use.  
1)   
 
 
 
 
 
 
 
Congruent:   YES    or    NO 
 
If so, theorem used: _____________ 

2) 
 
 
 
 
 
 
 
Congruent:   YES    or    NO 
 
If so, theorem used: _____________ 

3) 
 
 
 
 
 
 
 
Congruent:   YES    or    NO 
 
If so, theorem used: _____________ 
 

LEVEL: PROFICIENT 
Directions: Determine if it is possible to prove that the triangles are congruent. If so, state what theorem 
you would use. If not, then state the additional piece of information needed to prove congruence. 
 
4)  ∆𝐴𝐵𝐶 , ∆𝐷𝐸𝐶 
 
 
 
 
 
 
 
Congruent:   YES    or    NO 
 
If so, theorem used: _____________ 
 
If not, extra info: _________________ 

5)  ∆𝑇𝑈𝑉 , ∆𝑇𝑊𝑉 
 
 
 
 
 
 
 
Congruent:   YES    or    NO 
 
If so, theorem used: _____________ 
 
If not, extra info: _________________ 

6)  ∆𝑄𝑀𝐿 , ∆𝐿𝑃𝑁 
 
 
 
 
 
 
 
Congruent:   YES    or    NO 
 
If so, theorem used: _____________ 
 
If not, extra info: _________________ 

Directions: State the third congruence that is needed to prove that ∆𝐹𝐺𝐻 ≅ ∆𝐿𝑀𝑁 using the given 
postulate or theorem. 
 
7)  Given:  𝐺𝐻̅̅ ̅̅ ≅ 𝑀𝑁̅̅ ̅̅ ̅ , ∠𝐺 ≅ ∠𝑀  
Use the AAS Congruence Theorem 

 Answer:  ________≅ ________ 
 

 

8)  Given:  𝐹𝐺̅̅ ̅̅ ≅ 𝐿𝑀̅̅ ̅̅  , ∠𝐺 ≅ ∠ 𝑀 
Use the ASA Congruence Theorem 

 Answer:  ________≅ ________ 
 
9)  Given:  𝐹𝐻̅̅ ̅̅ ≅ 𝐿𝑁̅̅ ̅̅  , ∠𝐻 ≅ ∠𝑁  
Use the SAS Congruence Theorem 

 Answer:  ________≅ ________ 



 

LEVEL: MASTERY 
Directions: Write a two-column proof  
 
10)   Given: 𝐴𝐾̅̅ ̅̅ ≅ 𝐶𝐽̅̅ ̅ , ∠𝐵𝐽𝐾 ≅ ∠𝐵𝐾𝐽 , ∠𝐴 ≅ ∠𝐶 
 
 Prove: ∆𝐴𝐵𝐾 ≅ ∆𝐶𝐵𝐽 

 
  

Statement Reason 
   
  
 
 
 
 
 
 
 

 

 

11)   Given: 𝑋𝑈̅̅ ̅̅  and 𝑊𝑇̅̅ ̅̅ ̅ bisect each other 
 
 Prove: 𝑊𝑋̅̅ ̅̅ ̅ ≅ 𝑇𝑈̅̅ ̅̅  

 
 

Statement Reason 
   
  
 
 
 
 
 
 
 

 

 

12)   Given: ∠𝑇𝑆𝑈 ≅ ∠𝑆𝑇𝑅 , 𝑅𝑆̅̅̅̅ ∥ 𝑇𝑈̅̅ ̅̅  
 
 Prove: ∆𝑇𝑆𝑈 ≅ ∆𝑆𝑇𝑅 

 
  

Statement Reason 
   
  
 
 
 
 
 
 
 

 

 


